
((1-iV3)/(1+i))^13

((1-iV3)(1-i)/(1+i)(1-i))^13
((1-iV3-i-V3)/2)^13
(((1-V3)+i(-1-V3))/2)^13
z=(1-V3)/2+i(-1-V3)/2
z=|z|*(cosa+i*sina)
|z|=V(a^2+b^2)=V((1-V3)/2)^2+((-1-V3)/2)^2)=V((1-2V3+3+1+2V3+3))/
4)= =V((1+3+1+3))/4)=V2

p=(1-iV3)
q=1+i
для p 
p=|p|*(cosa+isina)
|p|=V(1+V3^2)=2
cosa=½
sina=-V3/2
a=-P/3

p=2(cos(-P/3)+i*sin(-P/3))
p^13=2^13(cos(-13P/3)+i*sin(-13P/3)=
=2^13(cos(-P/3)+i*sin(-P/3)=8192(½+i*V3/2)
для q
q=|q|(cosb+i*sinb)
q=V2
cosb=V2/2
sinb=1/V2=V2/2
q=V2(cos(P/4)+i*sin(P/4))
q^13=V2^13(cos(13P/4)+i*sin(13P/4))=64V2(cos(13P/4)+i*sin(13P/4))
=64V2(cos(5P/4)+i*sin(5P/4))=64V2(-V2/2-i*V2/2)

p/q={8192(½+i*V3/2)}/{64V2(-V2/2-i*V2/2)}=2^6*(1+i*V3)/(-1-i)=
=-64((1+iV3)(1-i))/((1+i)(1-i))=-64(1+iV3-i+V3)/2=-32(1+V3+i(V3-1))

4_V4=z
w=4+0*i
w=|w|(cosa+isina)
|w|=4
cosa=1
sina=0
w=4(cos0+isin0)
z^4=w
z=|z|(cosb+isinb)
z^4=|z|^4(cos4b+isin4b)=4(cos2Pk+isin2Pk)
4b=2Pk k=0,1,2,3
b1=0
b2=P/2
b3=P
b4=3P/2
|z|=4_V4
z1=V2(cos0+isin0)=V2(1+io)=V2
z2=V2(cosP/2+isinP/2)=V2(0+i)=iV2
z3=V2(cosP+isinP)=V2(-1+i0)=-V2
z4=V2(cos3P/2+isin3P/2)=V2(0-i)=-iV2


